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Chapter 6, Section 3:  Challenges for the New Nation Read the section and complete the 
outline below.  Roman numerals correspond to BLUE subtitles and capital letters 
correspond to Red subtitles. 

 

I. Remaining Neutral 

  A. The French Revolution 

  1. 

  2. 

  3. 

  4.  American Reactions: 

 

 B. The Neutrality Proclamation 

  1. 

  2. Washington’s View 

   a. 

   b. 

  3. Criticism for Washington’s View 

 

 C. The French Question 

  1. Edmond Genet and privateers 

   a. 

   b. 

   c. 

  2. Jefferson’s View 

   a. 

   b. 

   c. 

  3. British Threats to U.S. Neutrality 

   a. 

   b. 

   c. 

  4. Jay’s Treaty 

   a.  British agreed to  

   b. British also agreed to 

   c. Americans agreed to 

   d. Reactions to Jay’s Treaty 

    1)  

    2) 

    3) 



  5. Pinckney’s Treaty 

   a. Problems with Spain  

    1) 

    2) 

   b.  Americans (Pinckney) negotiated for  

    1) 

    2) 

   c. Spain’s (de Godoy’s) negotiation tactics 

    1) 

    2) 

   d. Three Features of Treaty  

    a.   (Hint: Border) 

    b. (Hint: Port) 

    c. (Hint: RofD) 

   e. American reactions 

 

II. Conflict in the Northwest Territory 

A. General Wayne Takes Command 

 1. Wayne’s task 

2. Little Turtle 

3.  In 1794  

4. Outcome –  

B. The End of Conflict 

1.  Battle of Fallen Timbers 

 a. 

 b.  

2. Treaty of Greenville 

 a. 

 b. 

 c. 

 

III. The Whiskey Rebellion 

A.  Background of tax on American-made whiskey 

  1. 

  2. 

 B. Reaction in the West 

  1. 

  2. 

  3. 

  4. 



 C. Whiskey Rebellion is Crushed 

  1. Incidents of violence in 1794 

   a. 

   b. 

2.  Washington’s fears and beliefs 

 a. 

 b. 

3.  Washington takes action 

 a. 

 b. 

 c. 

     

 IV. Washington Says Farewell 

 A. 1796 Decision  

  1.  

  2.   Wished to remind Americans that 

 B. Farewell address 

  1.   Warning #1 and reason: 

       a. 

   b.  

  2. Warning #2 and reason: 

   a. 

   b. 

  3. Warning #3 and reason: 

   a. 

   b. 

 


